- |period 1 (current period) and ¢; is in period 2 (future period). He will earn 100 units of the consumption
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1. Suppose that the demand and supply functions are given by : Q% =20 - 2p and Q° = —12+6p, and that a
$ 1 per unit specific tax is levied on the supply side. Determine the consumer’s tax share (1) , and

supply elasticity (point elasticity) _ (2)_ .

2. Assume Chen’s utility function is given by U(cy, 02)=01°'5 +2 C20.5 , where c; is his consumption in

goods in period 1 and period 2. He can borrow or lend in the market at an interest rate of 10%.
(a) If Chen is neither borrower nor lender, what will be his marginal rate of substitution between current

and future consumptions? (3)
(b) If Chen finds his optimal amount of borrowing or saving, what will be optimal ratio of cyto ¢; (i.e.,

Cz*/C1* = (4) )?

3. Assume the demand function of a monopolist is given by D(P) = 60—§ . It owns two factories, and

the function of total cost is assumed by C, =2¢} and C, =¢; respectively, where g is the output of]
factory 1 and g5 is the output of factory 2. Find the optimal output level of q* =_(5) and g,*
= (6) .

4. With an individual’s consumption choices in two years given below, over what range of quantities of]
X, consumes in current year would you conclude that the individual’s behavior is inconsistent with the

weak axiom of revealed preference?

(=?7=)_(OD_.
XO p() Xl pl
X 100 10 120 10
X> 100 10 ? 8

5. Suppose that the long-ruri total cost for a typical mushroom producer is given by C (y, w)=wy2 —10y
+100, where y denotes the firm’s output and w the wage rate. The industry total output for mushroom is
given by Y= —1,000p+40,000, where Y is summation of outputs from all mushroom firms in the

mushroom industry and p is the equilibrium price in the mushroom industry. .
(a) If the wage rate wis $ 1, what will be the long-run equilibrium output level (i.e.,y =_ (8) ) for

the typical mushroom picker?

(b) Assuming that the mushroom industry exhibits constant costs and that all firms are identical, what
will be the industry equilibrium price of mushrooms in long-run (i.e., p*=__(9)__ ), and how many
mushroom firms will there be __ (10)  ?

|
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1. Firm A is planning to acquire Firm B. According to empirical evidence, if Firm A prefers to make a
cash offer for the merger, it generally indicates that:
(1) Firm A's managers are optimistic about the post-merger value of A
(2) Firm A's managers are pessimistic about the post-merger value of A
(3) Firm A's managers are neutral about the post-merger value of A
(4) None of the above .

2. Suppose a U.S. firm buys $200,000 worth of television tubes from a Mexican manufacturer for
delivery in 60 days with payment to be made in 90 days (30 days after the goods are received).
The payment obligation is determined as of now and is in terms of Mexican pesos. The rising
U.S. deficit has caused the US dollar to depreciate against the peso recently. The current
exchange rate is 5.50 pesos per U.S. dollar. The 90-day forward rate is 5.45 pesos/dollar. The
firm goes into the forward market today and buys enough Mexican pesos at the 90-day forward
rate to completely cover its trade obligation. Assume the spot rate in 90 days is 5.30 Mexican
pesos per U.S. dollar. How much in U.S. dollars did the firm save by eliminating its foreign
exchange currency risk with its forward market hedge? (1) about $1,800 (2) about $7,500 (3) $0

(4) about $5,500 (5) about $4,500 (6) about $3,000.

3. Which of the following statements is most correct?
(1).An option's value is determined by its exercise value, which is the market price of the stock

. less its striking price. Thus, an option can't sell for more than its exercise value.
(2). As stock price rises, the premium portion of an option on a stock increases because the
difference between the price of the stock and the fixed striking price increases.
(3)-Issuing options provides companies with a low cost method of raising capital.
(4). The market value of an option depends in part on the option's time to maturity and on the

variability of the underlying stock's price.
(5). The potential loss on an option decreases as the option sells at higher and higher prices

because the profit margin gets bigger.

4. Which of the following statements is most correct?
(1). The weighted average cost of capital for a given capital budcret level is a weighted average of]
the marginal cost of each relevant capital component which makes up the firm's target capital
structure. ‘
(2). The weighted average cost of capital is calculated on a before-tax basis.
(3). An increase in the risk-free rate is likely to increase the marginal costs of both debt and equity

financing.
(4). Answers (1) and (3) are correct.
(5). All of the answers above are correct.

5. If you believe in the reversal effect, you should
(1). sell bonds in this period if you held stocks in the last period.
(2). sell stocks in this period if you held bonds in the last period.
(3). sell stocks [in this period] that performed poorly in the last period.
(4). Buy ETF [in this period] when the stock market performed well.
(5). sell stocks [in this period] that performed well in the last period.

6. Trumble is cons1der1ng a merger with Krieble. Krieble’s beta is 0.9 and it is currently financed at a
debt level of 20%, at an interest rate of 8%. Krieble faces a 25% tax rate. If Trumble acquires
Krieble, Krieble will increase the debt level to 60%, at an interest rate of 9 percent, and the tax
rate will increase to 35%. The risk free rate is 6% and the market risk premium is 4%. What will
Krieble’s equity required rate of return be after it is acquired? (1). 7.4% (2). 8.9% (3). 9.3% (4).

9.6% (5). 9.7% ]
. IR
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7. Which of the following statements is most correct?

(1). A firm acquiring another firm in a horizontal merger will not have its required rate of return
affected because the two firms will have similar betas.

(2).Financial theory says that the choice of how to pay for a merger is really 1rrelevant because,
although it may affect the firm's capital structure, it will not affect the firm's overall requlred
rate of return.

(3)- The basic rationale for any financial merger is synergy and thus, development of pro-forma
cash flows is the single most important part of the analysis.

(4).In most mergers, the benefits of synergy and the price premium the acquirer pays over market
price are summed and then divided equally between the shareholders of the acquiring and
target firms.

(5). The primary rationale for any operating merger is synergy, but it is also possible that mergers

" can include aspects of both operating and financial mergers.

8. Stock index now is = 8000. Risk-free rate= 3% a year. Cash dividend yield=1%. When you
trade stock index futures, initial margin is10% of the value of futures. Multiplier=2. Your
deposit earns risk-free rate. Your own capital=$8,000. You decide to buy 2 contracts of index
futures. After paying the deposit, you invest the remaining fund in government bonds. The
Beta of your investment position is within the range of : (1)0~ 1 (2)1.1~2 (3)2.1~3 (4)3.1~4
(5) higher than 4.

9. John would like to short-sell IBM stock (beta=1.2) because of risk management concern. However,
IBM common shares are unavailable to borrow for the purpose of short-sale. As a substitute, which of
following stocks should John short-sell instead ? (1) a stock which is in the same industry and of the
same size (2) a stock whose correlation coefficient with IBM stock is 1 and has a beta of 0.8 (3) a
stock whose correlation coefficient with IBM stock is 0.9 and has a beta of 0.9 (4) a stock whose
correlation coefficient with IBM stock is 0.8 and has a beta of 1 (5) a stock whose correlation
coefficient with IBM stock is 0.8 and has a beta of 1.2 (6) All of the above have the same effect.

10. Health and Wealth Company is financed entirely by common stock that is priced to offer a 15%
expected return. If the company repurchases 25% of the common stock and substitutes an equal value
of debt yielding 6%, what is the expected return on the common stock after refinancing? (Ignore
taxes.) (1) 18% (2) 21% (3) 15% (4) None of the above

11. Learn and Earn Company is financed entirely by common stock that is priced to offer a 20%
expected rate of return. The stock price is $60 and the earnings per share are $12. The company wishes
to repurchases 50% of the stock and substitutes an equal value of debt yielding 8%. Suppose that
before refinancing, an investor owned 100 shares of Learn and Earn common stock. What should he do
if he wishes to ensure that risk and expected return on his investment are unaffected by
refinancing? (1) Borrow $3,000 and buy 50 more shares (2) Continue to hold 100 shares (3) Sell 50
shares and purchase $3,000 debt (bonds) (4) None of the above.

12. Before merger announcement, number of common shares: Company A: 2000. Company B: 1000.
Earnings per share: A: $10. B: $10. Share price: A: $100. B: $50. Company A would like to acquire B
by offering one share of A for every two shares of B. If investors are aware that there is no synergy
from the merger, the price-earnings ratio of A's stock after the merger is : (1) lower than 5 (2) 5.01~6
(3) 6.01~7 (4) 7.01~8 (5) 8.01~9 (6) 9.01~10 (7) higher than 10.

13.0nlJan. 1, B % USD: JPY= 1:100, USD —#3#g Risk-free rate= 5%. JPY —s#g Risk-free

rate=1%. —4#4 USD:JPY= 1: X, F#&E X g44& (1) = 100x1.05/1.01 (2) = 100x1.01/1.05 (3) A #*
1.05/1.01 (4)/#1.05/1.01 (5)A# 1.01/1.05 (6)/\# 1.01/1.05
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(2)50 o if BAME (BE % 30%)  Risk-free rate=10%. £F— B (&4 A F, B #153$70,
— 4% 381) » B4, Security X #9— 4% payoff AdmETAE(L) $1 if FARAF(HEES
70%), (2) $ 0 if Z&ME . Security X HAIEH= al. Security Y &— F1& payoff A
BT (l) $0 if FRFGEEE T0%), (2) $1 if EHAME, Security Y HABHK= a2 3
P al= (1) lower than 0.3 (2) 0.31~0.35 (3)0.36~0.4 (4)0.41~045 (5)0.46~0.5 (6)0.51~0.6 (7)
0.61~0.65 (8) 0.66~0.7 (9) higher than 0.71

5.3 79 - —#E#y a2= (1) lower than 0.3 (2) 0.31~0.35 (3)0.36~0.4 (4)0.41~0.45 (5)0.46~0.5
(6)0.51~0.6 (7) 0.61~0.65 (8) 0.66~0.7 (9) higher than 0.71

16. If the 2-year forward rate of interest is the same as the 1-year spot rate, what is the 2-year spot rate?
[All the rates here are annualized rates.
(1) Smaller than the 1-year spot rate
(2) Larger than the 1-year spot rate
(3) Can't say without knowing the 3-year spot rate
(4) The same as the 2-year forward rate

17. Old Quartz Gold Mining Company is expected to pay a dividend of $8 in the coming year. Dividends
are expected to decline at the rate of 2% per year. The risk-free rate of return is 6% and the expected
return on the market portfolio is 14%. The stock of Old Quartz Gold Mining has a beta of -0.25. The
intrinsic value of the stock is: (1) lower than 100 (2) 101~110 (3)111~120 (4)121~130 (5)131~140
(6) 141~150 (7)151~160 (8) higher than 161.

18. Arbitrage proofs in futures market pricing relationships
(1). rely on the CAPM. (2). demonstrate how investors can exploit mispricing. (3). incorporate

transactions costs. (4). All of these are correct. (5). None of these is correct.

19. Portfolio A consists of 150 shares of stock and 300 calls on that stock. Portfolio B consists of 575
shares of stock. The call delta is 0.7. Which portfolio has a higher dollar exposure to a change in
stock price? (1) Portfolio B. (2) Portfolio A. (3) The two portfolios have the same exposure. (4) A
if the stock price increases and B if it decreases. (5) B if the stock price decreases and A if'it

increases.

20. To exploit an expected increase in interest rates, an investor would most likely
(1) sell government bond futures. (2) take a long position in commodity futures. (3) buy S&P 500
index futures. (4) take a long position in government bond futures. (5) None of these is correct.
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